Negjvétsi spoleény délitel mnohoéleni v Z[x]

PRIKLAD 1: Urcete NSD polynomi 3x° - 7x° - 4,3x' +6x° - 3x+6V Z[x].
[ > restart,;

[ > f:=3*X"3-7*X"2+7*X-4; (. =3*X"4+6* Xx"2- 3* X+6;
f:=3x-7xX+7x- 4
g:=3x*+6x°- 3x+6

> factor(f); factor(gQ);
(3x- 4) (- x+1)

| 3(x%- x+1) (¢ +x+2)
> ql:=quo(g,f,x); rl:=ren(qg,f,Xx);
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> q2:=quo(f,rl,x); r2:=rem(f,rl,x);
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Regeni:
[ > NSD: =3/ 46*r 1;
NSD =¥ - x+1

PRIKLAD 2: Uréete NSD polynomi 6 X* - 6 +3x- 3,3x*- 12x*+9x* +3x- 3V Z[x].

[ > restart,;

> f:=6*"Xx"4-6*x"3+3*x-3; (. =3*x"4- 12*x"3+9* x"2+3* x- 3;
f=6x*- 6x°+3x-3

g:=3x*- 12x3+9x +3x- 3

> factor(f); factor(g);
3(x-1)(2xX+1)
i 3(x- 1) (- 3x+1)
(> ql:=quo(f, g, x); rl:=ren(f,g, x);
gl:=2
r1:=3+18x>- 3x- 18%°
> g2: =quo(g,rl,x); r2:=remg,ri,x);
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> q3:=quo(rl,r2,x);

S g4: =quo(r2,r3,x);

l:{e%enl':
[ > NSD: =3*1/ 159*r 3;

[ >

r3:=rem(rl, r2,x),;
g3:=36x- 108

r3:=-159 + 159 x
ra:=rem(r2,r3,x);
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NSD :=-3+3x



